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Exam Id
Name:
Exam Date: 10-Mar-2023
Module Name: TEACHERS
Duration 120
Batch: 12:15-14:15
1) General Studies
Question No. 1 1.00

Bookmark
The "Right to Property" was removed from the Part lll of the Indian Constitution through which
Constitutional Amendment Act?

651‘(5"‘2]%!9 creedlig 81&1@9;?1" @] Constitutional Amendment Act FIRIFIER QURB1L AR QU I )
"AHRGIE ERIFIQ" (Right to Property) § 2612 GelIGIRI 2
(A) O 1st Constitutional Amendment Act, 1951
gelq QRIS aesslide 81(‘:1‘3‘9.‘51, 1951(1st Constitutional Amendment Act, 1951)
(B) O 24th Constitutional Amendment Act, 1971
24 ¢ gEpIe LeedNg 21&3@‘&1?1, 1971(24th Constitutional Amendment Act, 1971)
(C) O 44th Constitutional Amendment Act, 1978 (Correct Alternative)
44 ¢ IHMIS D°6HIR Equu‘ﬂﬂ, 1978 (44th Constitutional Amendment Act, 1978) (Correct
Alternative)
(D) O 42nd Constitutional Amendment Act, 1976 (Choosen Option)
42 Q¢ ARG gresiRe 21&1@9&1, 1976 (42nd Constitutional Amendment Act, 1976) (Choosen
Option)

Question No. 2 1.00
Bookmark
Where was the All India Khilafat Conference held in 19197
1919 69 9€ RAAG1L, QMIe jatai=ley (All India Khilafat Conference) 6820169 ?J@QQ 6Llweml?
(A) O Madras
flgle
(B) O Delhi (Correct Alternative)
Q@1 (Correct Alternative)
(C) O Calcutta (Choosen Option)
@MAG| (Choosen Option)
(D) © Punjab
aa&le

Question No. 3 1.00
Bookmark
Which Article of the Indian Constitution grants protection against 'double jeopardy' in Criminal Matters?
QUSGIL TR 682 IS, AT AIFIRIEH 'SR FBAE" (double jeopardy) Q 4ol dLIF KEQ?
(A) O Article 14
gl 14
(B) O Article 27
i 27
(C) O Article 20 (Correct Alternative)
A9 20 (Correct Alternative)
(D) O Article 31 (Choosen Option)
dlIgll 31 (Choosen Option)

Question No. 4 1.00

Bookmark
When was the NITI Aayog formed in India?

QUAGER NITI 2IELUIS 6968 S10C 62RI?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(A) © 2015 (Correct Alternative)
2015 (Correct Alternative)
(B) O 2014 (Choosen Option)
2014 (Choosen Option)
(C)O 1992
1992
(D) 2019
2019

Question No. 5 1.00
Bookmark
Which of the following parts of the Indian Constitution contains provisions regarding the 'Panchayats?
RIRG1E ARG FINYS IR 689 QNER ‘TN’ ARG SIS AER?
(A) O PartIX (Correct Alternative)
@lI%l IX (Correct Alternative)
(B) © Part XIVA (Choosen Option)
@lsl XIVA (Choosen Option)
(C) O Part IVA
ol IVA
(D) O Partll
@Usl 1l

Question No. 6 1.00

Bookmark
The Concept of "Justice" in the preamble of the Indian Constitution was taken from:

QI9G ISR gQG| (preamble) 69 "GUIE (Justice) R 2ASUIRE Q GULRE |
(A) O Russian Revolution (Correct Alternative) (Choosen Option)
e @498 (Russian Revolution) (Correct Alternative) (Choosen Option)
(B) © American Revolution
216619R1 T (American Revolution)
(C) O Glorious Revolution
601RFIL 8G& (Glorious Revolution)
(D) O French Revolution
UL G498 (French Revolution)

Question No. 7 1.00
Bookmark
In December 1938, the Sonepur State Prajamandal was formed under the presidency of:
@696 1938 69, @ 2RIFIER 6T AURY IRINER G100 6LIRAMI |

(A) © Bhimsen Bhoi (Correct Alternative)
WIF6He 66 (Correct Alternative)
(B) O Harekrushna Mahatab
LMY (1Ll
(C) O Narayan Nanda
QIUAS @&
(D) O Sarat Chandra Das (Choosen Option)
9% 24 @14 (Choosen Option)

Question No. 8 1.00
Bookmark
The poets Pampa, Ponna and Ranna are called the 'three jewels' of literature.
@S A, 6QIgl 99° AT AITGYR 'CF QG (three jewels) QLIKI |

(AY O Telugu (Choosen Option)
6@6my (Choosen Option)
(B) O Sanskrit
q°9e
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(C) O Kannada (Correct Alternative)
@9% (Correct Alternative)

(D) O Tamil
IR

Question No. 9 1.00

Bookmark
Which of the following is a Jovian Planet?

FINYS TR 696T, IF 6RITAG I (Jovian Planet) 269 ?
(A) O Venus (Choosen Option)
99 (Venus) (Choosen Option)
(B) O Mars
CloPm (Mars)
(C) O Neptune (Correct Alternative)
69dQUYe (Neptune) (Correct Alternative)
(D) O Mercury
gl (Mercury)

Question No. 10 1.00

Bookmark
When was the Swadeshi Steam Navigation Company started by V O Chidambaram Pillai?

@ 6 8QI99¢ e Il Y66 B FIG6I9R GHIF1 (Swadeshi Steam Navigation Company) 6868
2 6L I2mI?
A) O 1927
1927
(B) O 1858
1858
(C) O 1906 (Correct Alternative)
1906 (Correct Alternative)

(D) O 1919 (Choosen Option)
1919 (Choosen Option)

Question No. 11 1.00
Bookmark
How many digits are there in the Indian Financial System Code (IFSC)?
QUG 212 896 6118 S Indian Financial System Code (IFSC) 69! 6R62I3 @ 2R?
(AYO 12
12
(B) O 11 (Correct Alternative)
11 (Correct Alternative)
(C) © 10 (Choosen Option)
10 (Choosen Option)

OO 9
9

Question No. 12 1.00
Bookmark
When was the third Five Year plan started?
Lol 98 Qe 6dinel 6969 2ld 6Limdml ?
(A) O 1971
1971
(B) O 1961 (Correct Alternative) (Choosen Option)
1961 (Correct Alternative) (Choosen Option)
(C) O 1966
1966
(D) 1976
1976
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Question No. 13 1.00

Bookmark
Which of the following elements is responsible for Itai-ltai disease?

FAMGe IR 669 QUITIF, RIR-RTIR (Itai-tai) 65U%! AR QILH 266 ?
(A) O Cadmium (Correct Alternative)
@YIGA2161 (Cadmium) (Correct Alternative)
(B) O Mercury
ﬂij*{w (Mercury)
(C) © Beryllium
626imels (Beryllium)
(D) O Lead (Choosen Option)
&1ell (Lead) (Choosen Option)

Question No. 14 1.00
Bookmark
Which of the following lakes is the largest freshwater lake in India?
FUMGE F1-I 669 29, YIS QERE YD W €< (freshwater lake) 26S' ?
(A) O Pulicat lake (Choosen Option)
EEIQLIIS' 29 (Pulicat lake) (Choosen Option)
(B) © Wular lake (Correct Alternative)
@amI9 €9 (Wular lake) (Correct Alternative)
(C) © Sambhar Lake
°ulol €% (Sambhar Lake)
(D) O Harike Lake
2Q6R €9 (Harike Lake)

Question No. 15 1.00

Bookmark
Who is called as Frontier Gandhi?

@ILIg iclle QlIf1 21 Frontier Gandhi @969 Decljala audig ?
(A) O Khan Abdul Ghaffar Khan (Correct Alternative) (Choosen Option)
oliq 2legm Sra ¢lIe (Correct Alternative) (Choosen Option)
(B) © Muhammad Ali Jinnah
FL6Q AR W11
(C) © Muhammad Ali Jauhar
ALFQ 2 QLI
(D) O Maulana Abul Kalam Azad
6CIRIFI 2R FRIA 2RI

Question No. 16 1.00
Bookmark
Which among the following countries is the largest producer of copper in the world?
FIRge I 609 694, TR AR BFY AYILFIN 64l 26T ?
(A) O Chile (Correct Alternative)
&@ (Correct Alternative)
(B) © China (Choosen Option)
21 (Choosen Option)
(C) O Australia
26 mall
(D) O United States of America
IBAUY 2R

Question No. 17 1.00

Bookmark
The subjects "Police” and "Public Order" comes under which of the following lists of the Seventh
Schedule of Indian Constitution?
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"GRIRG" 98° "SRR QUdl" (Public Order) FAAYER QUG SRR AGE 2GS (Schedule) Q
FIRGIC MG I 6Q9% ANFER 216€1?
(A) O Union List
648 IR (Union List)
(B) O Concurrent List (Choosen Option)
g8 91 RS QIRQI (Concurrent List) (Choosen Option)
(C) O State List (Correct Alternative)
QUGY SIMS| (State List) (Correct Alternative)
(D) O Residuary List
2989 SIM@I (Residuary List)

Question No. 18 1.00
Bookmark
The Red Soil develops a reddish colour due to a wide diffusion of in crystalline and
metamorphic rocks.
5@ 99° 9Q1Qe §iRl (crystalline and metamorphic rocks) 6%\ QIR TR (diffusion)

699 EAIZE FJRNIER MM OEPA SRI8 621R2I |
(A) O Potassium
AFIEAE! (Potassium)
(B) © Calcium
RUIRGAE (Calcium)
(C) O Nitrogen
Ql@eglewa (Nitrogen)
(D) O Iron (Correct Alternative) (Choosen Option)
6mIE (Iron) (Correct Alternative) (Choosen Option)

Question No. 19 1.00
Bookmark
The Indian National Congress and the All India Muslim league signed the in 1916.
1916 69 RVUAL1L: RV F°6519 19° AR FE2I AR RS, IR KRRJ6M |

(A) O Ahmedabad Pact
ALFIQISIQ @8 (Ahmedabad Pact)
(B) © Delhi Pact
Q®1 9 (Delhi Pact)
(C) © Poona Pact
g2l §8 (Poona Pact)
(D) © Lucknow Pact (Correct Alternative) (Choosen Option)
m68]1 9® (Lucknow Pact) (Correct Alternative) (Choosen Option)

Question No. 20 1.00

Bookmark
Which Article of the Indian Constitution empowers the President to promulgate ordinances during the
recess of Parliament?

AAGIL LERIGR 69 I, AURIEF "I 85 INA6R 2RIIERE (ordinances) @IR KQRIG IS Al
@E9?
(A) O Article 110
Al 110
(B) O Article 123 (Correct Alternative) (Choosen Option)
&lIQl 123 (Correct Alternative) (Choosen Option)
(C) O Article 112
il 112
(D) O Article 50
iU 50

Question No. 21 1.00
Bookmark
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Which of the following Chola rulers assumed the title of ‘Maduraikonda’(Conqueror of Madurai)?
FAMGIe CRIQ 60% 60I% AR, ‘ALARERNEI (FGARDR F6RG]) QAN P8 aRI6M ?
(A) O Parantaka I (Correct Alternative)
doUse | (Correct Alternative)
(B) O Rajendral
QUeRE |
(C) O Rajaraja |
QIS |
(D) O Vijayalaya (Choosen Option)
S@ARL (Choosen Option)

Question No. 22 1.00
Bookmark
The Ganga dynasty was followed by the establishment of the rule of another glorious dynasty known as
the:
AIEP QURL°E I6R 2FY I 651RQCL QURLEIR FIDG YEF 6@IRMI, QI QISER UREE |

(A) O Sailodbhavas
686RIS@S (Sailodbhavas)
(B) © Bhaumakaras
66lERIR (Bhaumakaras)
(C) O Suryavamsi Gajapatis (Correct Alternative) (Choosen Option)
qﬁ49°ﬂ1 619G (Suryavamsi Gajapatis) (Correct Alternative) (Choosen Option)
(D) O Somavamsis
6dIf19°61 (Somavamsis)

Question No. 23 1.00
Bookmark
‘Tiger' is placed under which category of the IUCN's Red List of Threatened Species?
'Y’ G IUCN 9 L°R610G KIS KM SIMSI (IUCN's Red List of Threatened Species) Q 689 Qel6al
QA DK?
(A) O Extinct in the Wild
S@9 (Extinet in the Wild)
(B) O Critically Endangered
YRE WIES Ml (Critically Endangered)
(C) O Endangered (Correct Alternative)
mYdi&l (Endangered) (Correct Alternative)
(D) © Vulnerable (Choosen Option)
AYR&E (Vulnerable) (Choosen Option)

Question No. 24 1.00

Bookmark
Who is the Chairman of Goods and Services Tax (GST) council?

AIFIGH 99° 69Q1 @R (GST) 98 91 Goods and Services Tax (GST) council @ 2IY &9?
(A) O Prime Minister of India
LUAGA JlIe €11
(B) O President of India
QIRER AULIT
(C) O Governor, Reserve Bank of India
IR, VNG ARE UIR
(D) O Union Finance Minister (Correct Alternative) (Choosen Option)
(3% 22 £191 (Correct Alternative) (Choosen Option)

Question No. 25 1.00

Bookmark
Where is the Headquarters of World Bank located?

Q9 QUIFR GRS 69L0I69 2A9FS?
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(A) O Washington D.C. (Correct Alternative)
@lI9ePo'e D.C. (Correct Alternative)
(B) O London
mela
(C) O Geneva (Choosen Option)
6@&@l (Choosen Option)
(D) O New York
quos

Question No. 26 1.00
Bookmark
Atacama Desert is located in which of the following Continents?
2SIRIF AQQE (Atacama Desert), GRS FRIR 60Q ALI6L469 2STS?
(A) O Africa
agal
(B) © North America
QAR 2R
(C) O Asia
ggal
(D) © South America (Correct Alternative) (Choosen Option)
@861 2165101@1 (Correct Alternative) (Choosen Option)

Question No. 27 1.00
Bookmark
Where is the headquarters of National Biodiversity Authority located in India? .
@IS1E 6WRTUG| YIRJGRE (National Biodiversity Authority) @ (SIUIRE, RUQGER 6290169 ASEE?
(A) O Mumbai
A
(B) O Chennai (Correct Alternative) (Choosen Option)
69'9I% (Correct Alternative) (Choosen Option)
(C) O Kolkata
aRael
(D) © New Delhi
el af1

Question No. 28 1.00
Bookmark
Who among the following had drafted the Sarvodaya Plan in 19507
FEmMEe F1-IQ &9 1950 6 65199, 6QIRRIA TOI 9% a5lem?
(A) O Jawaharlal Nehru
@QITIAMIM 6TELR
(B) O Mahalanobis
ALIRERITY
(C) O AS Narayan Agarwal
g QIRULél 2oNGIm
(D) O Jai Prakash Narayan (Correct Alternative) (Choosen Option)
el o6l @I9ULE] (Correct Alternative) (Choosen Option)

Question No. 29 1.00
Bookmark
Which of the following river systems has River Manjira as its tributary?
F18%I 991 (River Manjira), @mES F&Q 699 991 QEINQ 98 QUK 266 ?
(A) O Mahanadi
ALed
(B) O Godavari (Correct Alternative) (Choosen Option)
66lL19'9N (Correct Alternative) (Choosen Option)
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(C) O Kaveri
@

(D) O Tapi
clan

Question No. 30 1.00
Bookmark
On which of the following rivers is the Mettur Dam situated?
FINYS TN 696 F16R 619Q RUIF (Mettur Dam) 298672
(A) O Mahanadi
L9
(B) O Kaveri (Correct Alternative) (Choosen Option)
@169 (Correct Alternative) (Choosen Option)
(C) O Krishna
QY
(D) O Godavari
69lQIaN

2) Arithmetic
Question No. 1 1.00

Bookmark

A sum of money is distributed among A, B, C, D in the proportion of 27:28:29:30. If D gets ¥ 1000 more
than C, what is B's share? (In )
27:28: 29: 30 AQUIGEQ A, B, C, D (1169 98 QUi €44 @QUIRI | & D, C 0IQ T 1000 2y« AN, B Q &I
6966 6499 7 ( 69)
(A) O 29500

29500
(B) O 28500

28500
(C) © 28000 (Correct Alternative)

28000 (Correct Alternative)
(D) O 29000

29000

Question No. 2 1.00

Bookmark

The average of 4 terms is 127 and the 18t term is 1/3 of the remaining terms. What will be the first term?
4 G 999 LIULIA 127 98° galfl 9, AR degean 1/3 265 | galfl deT 6866 699 ?
(A) O 131

131
(B) O 125

125
(C) O 127 (Correct Alternative)

127 (Correct Alternative)
(D)O 129

129

Question No. 3 1.00

Bookmark

A, B and C can complete a piece of work in 375, 250 and 750 days respectively. Working together, they
will complete the same work in how many days?
4@ QIYg A, B 98° C Q2IIR661 375, 250 95° 750 206 6699 RRQINE | 9910 RIF @3, 64766 6768 T
FRIERQ AN QI DAY FDER?
(A O 123

123
(B) O 127

127
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(C) O 125 (Correct Alternative) (Choosen Option)
125 (Correct Alternative) (Choosen Option)
D)o 121
121
Question No. 4 1.00
Bookmark
Solve:
238x (14 +6)x 15 x4=7
ALRIS @
238x (14 +6)x15x4="7
(A) O 3432
3432
(B) © 3332 (Correct Alternative) (Choosen Option)
3332 (Correct Alternative) (Choosen Option)
(C)O 3132
3132
(D) O 3232
3232
Question No. 5 1.00
Bookmark
Find the total surface area of a cone whose radius is 3 cm and slant height is 4 cm. (Use = 22/7 and in
2
cm-©)
9@ 6519 Q 919 AR AR ada a9, QITIR QUIAIS 3 cm 99° 98 RSS! 4 cm 268 | (T = 22/7
QULLIR AR IL° cm? 69)
(A) O 66 (Correct Alternative)
66 (Correct Alternative)
(B)O 96
96
(C)O 86
86
(D) O 76 (Choosen Option)
76 (Choosen Option)
Question No. 6 1.00
Bookmark
Find the LCM of 43/44 and 44/45.
43/44 \9Q° 44/45 6 2.91.9). €A I |
(A) O 1992
1992
(B) O 1792
1792
(C)O 1692
1692
(D) O 1892 (Correct Alternative)
1892 (Correct Alternative)
Question No. 7 1.00
Bookmark
What least digit should replace * in the number 946237, so that the number is divisible by 97
Q°61Yl 946237 61 * & 69 AR IR ITITE 6T6M L°GUIT 9 IS FRURY 689 ?
(A) O 3 (Choosen Option)
3 (Choosen Option)
(B) O 5 (Correct Alternative)
5 (Correct Alternative)
€0 9
9
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Do 7
7

Question No. 8

Find the value of x. (Upto 2 decimal)
16.5%16.5+2.5+x+83.83x1.1 = 523
X QR Fda o | (Q80e 2 Aw adyg)
16.5%16.5+2.5+x+83.83x1.1 = 523
(A) O 351.88
351.88
(B) © 321.88 (Correct Alternative)
321.88 (Correct Alternative)
(C) O 341.88
341.88
(D) © 331.88
331.88

1.00
Bookmark

Question No. 9

A traveller covers a distance of 6355 metres in 31 seconds, find the speed of the traveller. (In kmph)
@68 2181, 31 696R€6%9 6355 F19Q 9AGI 2PN K08, gl 699 a¢la 89 | (kmph 69)

(A) O 738 (Correct Alternative)
738 (Correct Alternative)
(B) © 740 (Choosen Option)
740 (Choosen Option)
(C)YO 736
736
D)y 734
734

1.00
Bookmark

Question No. 10

Find the remainder when sum of 5 consecutive natural numbers from 3232 to 3236 (both inclusive) is

divided by 5.

3232 91 3236 (Q@E, 2°6lUl €2) F1IER 5 & TR S8R 2SR A8 5 TR LI REM, QUGIESIS 6R6S 629 ?

(A) O 0 (Correct Alternative)
0 (Correct Alternative)
B)O 3
3
(C) © 1 (Choosen Option)
1 (Choosen Option)

D) O 2
2

1.00
Bookmark

Question No. 11

If 211% of X = 399% of 211, what is the value of X?
AR X Q211% = 2119 399% §, 6669 X Q Y 6R6% ?
(A) O 397
397
(B) © 399 (Correct Alternative)
399 (Correct Alternative)
(C) © 395 (Choosen Option)
395 (Choosen Option)
(D) O 393
393

1.00
Bookmark

Question No. 12

1.00
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Bookmark
The length and breadth of a rectangle is decreased by 10% and increased by 10% respectively, find the
change in resultant area.

9% 2NS6ASR 634 98° ggeq ARIIFEA 10% €19 99° 10% 98 €49, 6069 AL CHSPRAR a{alalala
ael9 aq |
(A) O 6% decrease
6% €14
(B) O 6% increase
6% Q@
(C) O 1% increase
1% Q&
(D) O 1% decrease (Correct Alternative)
1% €14 (Correct Alternative)

Question No. 13 1.00

Bookmark

Pipe A can fill a tank in 489 minutes and Pipe B can fill the same tank in 978 minutes. If both pipes are
opened together, how many minutes will it take to fill the empty tank?
AR A, 489 FITF60 99 Gl q@ QAR 99° dIRd B, IS SI@g 978 AFT6R qei Q6D | IT QR
ARG IR0 6SIRIKIN, SR SlI& q@ RR1g 6866 TG MAS?
(A) O 324

324
(B) O 326 (Correct Alternative)

326 (Correct Alternative)
(C) O 322 (Choosen Option)

322 (Choosen Option)
(D) O 320

320

Question No. 14 1.00

Bookmark
Akilesh buys an old scooter for 4400 and spends % 300 on its repairs. If he sells the scooter for ¥ 5640,
find the gain percentage. ]
AR6mE 99 g8l YA Z 4400 62 FF6M 99° LI ALUFE iR T 300 §IF f6m | 98 64 95 T 5640 69
oG 998, 6064 AR B8 fda /9l |
(A)O 15
15
(B)O 25
25
©) 0O 30
30
(D) O 20 (Correct Alternative) (Choosen Option)
20 (Correct Alternative) (Choosen Option)

Question No. 15 1.00

Bookmark
A boat goes 145 km upstream in 29 hours and a distance of 210 km downstream in 30 hours. Find the
speed of the boat in still water. (In kmph)

96 G5, 62199 JTGRER 29 QISR 145 FEAIFTH 99° 62189 AGFREN 30 FEIEH 210 FEAIFATA OB
ARG 969 | T8 FR6A IR 699 F4lel 99l | (kmph 69)

(A O
B0

© o0

o O N~

(D) O 6 (Correct Alternative)
6 (Correct Alternative)
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Question No. 16 1.00
Bookmark
The average of seven consecutive odd numbers is 91. Find the lowest of these numbers.
dIgT 9IS 2gg L HUIR LINULIR 91 A6 | AR FRIQ YGOF oSG fda e |
(A) O 85 (Correct Alternative)
85 (Correct Alternative)
(B) O 87
87
(C)O 89
89

(DO 83
83

Question No. 17 1.00
Bookmark
By selling a watch for ¥ 1254, a man loses 12%. Find the cost price of the watch. (In %)
@64 QYD 99 LG T 1254 69 7 Q6 12% [G 998 | 992 9 Y G4 8 | Z 69)
(A) O 1425 (Correct Alternative) (Choosen Option)
1425 (Correct Alternative) (Choosen Option)
(B) O 1455
1455
(C)O 1445
1445

(D) O 1435
1435

Question No. 18 1.00
Bookmark
Two numbers are in the ratio 2:5 and their HCF is 27. Find their LCM.
ga@ 2°6MIRQ AFIE 2:5 NQ° 6@ 6l.4l.9. 27 2l6G | 64elaa M.41.9). adaqa |
(A) O 290
290
(B) O 310
310
(C) O 270 (Correct Alternative)
270 (Correct Alternative)
(D) O 250
250

Question No. 19 1.00

Bookmark
Find the area of a trapezium, given that the sum of parallel sides is 90cm and distance between them is

45cm. (In cmz)
4@ gIHRANR AAISR QFFERR AF1F 90cm 99° 6FIRE FIIER 96! 45cm 268 | YITRAND 6HSTR
?da 9 | (cm? 69)
(A) O 2225 (Choosen Option)
2225 (Choosen Option)

(B)y O 2125
2125
(C) O 2025 (Correct Alternative)
2025 (Correct Alternative)
(D) O 2325
2325

Question No. 20 1.00
Bookmark
The sum of three terms is 22670. If the ratio between first term and second term is 26:27 and that of
second term and the third term is 28:29, find the difference between first and last term.
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G6QIT 999 9A1F 22670 26T | AT IF 9SG 8 §218 I FRIER AFAIS 26:27 9Q° §O1A OQ B ¢RI I
flleq Agdle 28:29 g4 | galfl ¥9° 6618 dQ Fdenl aiRiay 4o /|
(A) O 570
570
(B) O 550 (Correct Alternative)
550 (Correct Alternative)
(C) O 580 (Choosen Option)
580 (Choosen Option)
(D) O 560
560

3) Analytical Reasoning and Mental Ability

Question No. 1 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘A < L definitely true?

F>AsM?IsL<Y . _
aRgRIs ‘A< L g F8e 969 deY dedITe K091 ol fERYS FIG 68Q €017, 9@ JRgRIFen 21 g
8¢ (?) g 959I8¢ /99 ?

F>ASM?IsL<Y
A O =
>
(B) O < (Choosen Option)
< (Choosen Option)
€)oo >
>

(D) O = (Correct Alternative)
= (Correct Alternative)

Question No. 2 1.00

Bookmark
Find the next number in the series.
10, 17, 26, 37, 50, 65, ?
AFTIER JREE 2°HUIS Gelel a9 |
10, 17, 26, 37, 50, 65, ?
(A) O 82 (Correct Alternative) (Choosen Option)
82 (Correct Alternative) (Choosen Option)
(B) O 70
70
)0 72
72
D)o 84
84

Question No. 3 1.00

Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: RzK;E2L;A=P; K<L, R<A
Conclusion:
)P>K
i) E>K

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B)
(€)
(D) Neither i nor ii follows
(E)
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€6, F0g AUILIeE FRI6H 2Kl afle’, SRYYCA F4IYINE | IT 9DSY d6Q gag goed FAIAINS :
e@eYy:Rz2K:EzL;:A=P:K<L,R<A

dad:

hP>K

iE>K

a4 FRIQ 906 7995 54 9
(A) 6996 a4 | 29904 F69
(B) 6897 @94 ii 29994 @69
(C) | @ ii AQARE @6Q
(D) | @5Y ii 2AQANE F6RQ FIF
(E) @@l i 99° ii 29998 [69

E (Correct Alternative) (Choosen Option)
E (Correct Alternative) (Choosen Option)

(

e
O

D)O

OO0 >»> Ww

Question No. 4 1.00

Bookmark
If, in the number sequence 5783211456 32, all the odd numbers are increased by one and all the
even numbers are increased by one, then the new number sequence is arranged in ascending order,
which will be the fifth digit from the right?
AT, I Q57832114563 269, 971 2 2°GHI6RQ 98 9F QQUAN 99° DAY Y D°FUIER J&
98 QAU 99° 9O A°6lil O ATGE6R (6RITQ Y) ARIR GRUAN, 6669 FILIE TR A8 A [Salols
699 ?

(AAO 7
7
B O 3
3

(C) O 6 (Correct Alternative)
6 (Correct Alternative)
(D) © 4 (Choosen Option)
4 (Choosen Option)

Question No. 5 1.00

Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
B,I,Z X F ]
am@ a185Q Sl6QUT 99 FeY QIRER 96l 29T 99° 9Q )T 907 998 | 6990 651 qeleal agdie
E_ES‘E ?
Byl 2. X.F

(A O Z
z

(B) O | (Correct Alternative) (Choosen Option)
| (Correct Alternative) (Choosen Option)

€)oo X
X
OO F
F

Question No. 6 (Case Study From Q.No 7 To 9) 3.00
Bookmark
Directions:
In a certain code language:
'dry and arid land' is coded as '2@ 3# 5! 6&/,
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'‘wide and dense land' is coded as '3# 9% 2@ 8/',
'narrow and dense area' is coded as '9% 0* 7$ 3#,
'long wide dry area' is coded as '7$ 5! 8/ 4\
Feaem :
90 GEY 6916 Q6D :
'dry and arid land' § '2@ 3# 5! 6&' QI6R 6&IQ FAUIRE,
'wide and dense land' § '3# 9% 2@ 8/' QU6 691E FAULIDS,
'narrow and dense area' § '9% 0* 7$ 3# QIS6Q 6&I¢ FAUUIRQE,
'long wide dry area' @ '7$ 5! 8/ 4\' QISEA 6Q1E FAUAIRS |
Bookmark
What is the code for 'narrow' in the given code language?
doa 6R1e QUBIER 'narrow' @ 6QIE @6l 6L ?
(A) © 0* (Correct Alternative) (Choosen Option)
0* (Correct Alternative) (Choosen Option)
(B)O 7%
7%
C)O 3#
3#
(D)YO 9%
9%
Bookmark
What is the code for 'and' in the given code language?
geel 616 LIYIER 'and’ O 6R1E Rl 6L ?
A) O 8
5!
(B)O 9%
9%
(C) O 3# (Correct Alternative) (Choosen Option)
3# (Correct Alternative) (Choosen Option)
(D) O 2@
2@
Bookmark
What does the code '9% 2@’ stands for?
69l% '9% 2@' @l€l dim gLy 26%' ?
(A) O dense land (Correct Alternative) (Choosen Option)
dense land (Correct Alternative) (Choosen Option)
(B) O dense wide
dense wide
(C) O wide land
wide land
(D) © and dense
and dense
Question No. 10 1.00
Bookmark
If every alternate letter starting from the left end of the word CIVILIZATION is written in small letters, rest
all are written in capital letters, the new word thus formed is arranged in reverse order, which letter will be
third to the left of the letter seventh from the right?
QS CIVILIZATION 6199 QI¢l QISR 29 62IR2)e! J6SYa a7 AJA (69166 KIT 69165 IR 6MTA (small
letters) 65 6REIAIN, QIR 99 RUITSIR MR (capital letters) 62 EMSILIN, \‘Ii‘ﬂ_@ g0 geF 999 BRSI ¢l
(reverse order) 69 QYQEE KEM, GILIE AT YS! AVAQ QI I RN 69 A/ 2T ?
(A) O |(Correct Alternative)
I (Correct Alternative)
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B)O L
L

©0O A
)

(D) O t(Choosen Option)
t (Choosen Option)

Question No. 11 (Case Study From Q.No 12 To 16) 5.00
Bookmark
Directions: Read the given information carefully and answer the questions that follow.
Seven friends M, N, O, P, Q, R and S sit in a straight row. Out of seven, some face north and some face
south, not necessarily in the same order.
a) R faces north.
b) N is the only neighbour of P.
c) The either sides of Q face the same direction opposite to that of S.
d) Q is second to the left of S and P as well.
e) Neither N nor P face the direction same as that of Q.
f) S faces the direction opposite to that of R.
g) O, who sits to the immediate left of S, sits third to the right of M.
FeaAIeR : gea doQlg QNEIES 4g 9e° SAILINS 999 Qe &2 | .
Ie@é 9§ M, N, O, P, Q, R 99° §, & Tl UIPER STRE | AI6T FrIQ 7R RA0g 98° a8 98é 21eg gL
L0188, aa1g ¢I6%. Q49 RN ELGQV |
a) R 2809 219q < 90& |
b) N 69Q& P o IR¢llg d6QIel | _ _
) Q O Qe IER YT FYB S FF PR AT TN GoIg € ARRT |
d) Q €13 § 9Q° P & QI¢1 &% FOI06 ZIQ |
e) N @9l P, 6928 Q ¢< 993<1 Gog 7 9RRILIR |
f) S, R fJ€ @RS S99 fUNG G0 & G0 |
g) 0, S Q09 QIf1 956 I9° M @l QILIdl 98 GLIAER QT8 |

Bookmark
Who sits third to the left of O?

0 Q 9171 9% goI6R @9 988 ?

(A) O M (Correct Alternative)
M (Correct Alternative)

(B) O R (Choosen Option)
R (Choosen Option)

N
N
=]
=]

Bookmark
Who sits third to the right of the one who sits second to the left of N?

N Q QI 99 §016R T2/ QU@ QITI8 U8 §o1A6n &9 T8 ?

(A O O
O

(B) O P (Correct Alternative)
P (Correct Alternative)

o s
S

D)o Q
Q

Bookmark
Who sits at the fifth position from the left end of the row?

AIBA QIF ISR A8 YRR &Y QTR ?
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(A)O S
S
(B) O Q (Correct Alternative)
Q (Correct Alternative)
©o o
@]
OO N
N
Bookmark
Who sits exactly between M and S?
M 9e° S @ O f1leq @9 Q48 ?
(A) O Q
Q
(B) O R (Correct Alternative)
R (Correct Alternative)
Qo P
P
OO O
0
Bookmark
Which of the following is the odd man out, with respect to the arrangement?
LGl A6, TIMYS F1RIQ 689G 2D6FE (odd man out) 26 ?
(A) O S (Correct Alternative)
S (Correct Alternative)
®oFP
P
(C)O N
N
(D) O M (Choosen Option)
M (Choosen Option)
Question No. 17 1.00
Bookmark
Find the next number in the series.
6,15, 19, 96,101, ?
2GRN QRGN LPHYIT fdaaa |l
5,15, 19, 95,101, ?
(A) O 404
404
(B) O 505 (Choosen Option)
505 (Choosen Option)
(C)o 105
105
(D) O 707 (Correct Alternative)
707 (Correct Alternative)
Question No. 18 1.00
Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
LP, VZ, CG, MQ, SY )
QIRGS AFTR SIEAUT I8 FEY ALER AQE ATE 99 9K DAL FI0Q K98 | 6066 69R L9 2SS
g6% ?
LP, VZ, CG, MQ, SY
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(A) O MQ
MQ

B) O LP
LP

(C) O SY (Correct Alternative) (Choosen Option)
SY (Correct Alternative) (Choosen Option)

(DYO vz

vz

Question No. 19 1.00
Bookmark

Twao persons A and B, stand at the same point. A walks 5km East, takes a right turn and walks 4km and
turns left and walks 3km. B walks 3km towards West; turns right and walks 5km; turns right again and
walks 11km. How far is A from B?
9R@E U@ A 99° B, 661159 FIF6R &G 6SIR8T | A 99 G96Q 5 km SIm6m, I8 G191 661G 66R 4 km
SIMEM 99° QIFIg M 3 km SIMSA | B 98¢ Q9g 3 km SIR6M; GILI6g §fl 5 km SIMEM; qwdla wlleg
gMm 11 km SIMEM | B @ OIQ A @ 901 6968 ?
(A) © 9km (Correct Alternative)

9km (Correct Alternative)
(B) © 13km (Choosen Option)

13km (Choosen Option)
(C)O 11km

11km
(D) O 8km

8km

Question No. 20 1.00
Bookmark
N sits to the North of L and West of M. L sits to the East of O. If everyone is facing North, which direction
of O, is N?
L @ Q@969 99° M @ 98769 N 9988 | O @ 9960 L 9988 | 9% 9969 0e9q ¢ 2088, 6669 O @
699 QOI6R N 288 ?
(A) O North-West
QAQ-a8e
(B) O South-East
oR4-9e
(C) O South-West
QR&-a8ic
(D) O North-East (Correct Alternative) (Choosen Option)
(ﬂ@‘&l-ﬂ_ﬁf (Correct Alternative) (Choosen Option)

Question No. 21 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? _
(1), (2), (3), (4) VL6 FFIN 6LINYR| FIRNYC TF IR 6827, Joa T dd gEaAR Faoer 2gad
aeg ?
P

A O 1
1

(B) O 3 (Correct Alternative) (Choosen Option)
3 (Correct Alternative) (Choosen Option)

NN AR

Question No. 22 1.00
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Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4) RISER TR 62IRAS| FIRYE TS AR 69GF, GOQ §AIB ANLEN B 629 ?

s L
(A) O 3 (Correct Alternative)
3 (Correct Alternative)

(B)O 2
2
© 0 4
4

(D) O 1 (Choosen Option)
1 (Choosen Option)

4) Computer and Internet Awareness

Question No. 1 1.00
Bookmark
In Windows operating system, the default folder available to keep personal files/folders is
G64IR 2U65"° QYR QUGS TFIam / 6FIRAYET 6] dIa QUM SR EPIND (default folder),
2eg |
(A) © My Documents (Correct Alternative) (Choosen Option)
flin ©QUee1ed (My Documents) (Correct Alternative) (Choosen Option)
(B) O My Folder
€l 6P (My Folder)
(C) O My Text
Al 66'9%C (My Text)
(D) O My Files
AR Flame (My Files)

Question No. 2 1.00
Bookmark
is RAM that is stored on a Hard disk by extending portion of its available disk capacity.
6208 RAM QITI& 9210 Qdng 29 716! (available disk capacity) 6 @& 21°8 95656 (extend)
A0 99 QIF 969 6] Y |
(A) O Volatile Memory (Choosen Option)
cQIMIFIRMm 6€16€1I91 (Volatile Memory) (Choosen Option)
(B) O Virtual Memory (Correct Alternative)
@S“allﬁﬂ 6£16¢1I9N (Virtual Memory) (Correct Alternative)
(C) © USB Memory
USB &£16¢1I91 (USB Memory)
(D) O Non-Volatile Memory
@-6RIMIS DM 651651 (Non-Volatile Memory)

Question No. 3 1.00
Bookmark
What is the shortcut key for warm booting?
alel 9E&P (warm booting) Al 99RS @1 (shortcut key), 2e% |
(A) O Ctrl + UpwardArrow + Del
Ctrl + UpwardArrow + Del
(B) O Ctrl + F2 + Del
Ctrl + F2 + Del
(C) O Ctrl + Alt + Del (Correct Alternative)
Ctrl + Alt + Del (Correct Alternative)

(D) O Ctrl + Shift + Del (Choosen Option)
Ctrl + Shift + Del (Choosen Option)

Question No. 4 1.00

Bookmark
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A is a subdivision of a track on a magnetic disk or optical disc.
SIS 6LQR 9@ 99918 §9 Q7Y 2JRIN T2 (magnetic disk or optical disc) 69 9@ GIR (track) &
96 9PQRS (subdivision) |

(A) O Layer (Choosen Option)
6mEIR (Layer) (Choosen Option)
(B) O Vector
699l (Vector)
(C) O Sector (Correct Alternative)
6499 (Sector) (Correct Alternative)
(D) O Cluster
K8 (Cluster)

Question No. 5 1.00

Bookmark
What is POST in computers?

QTR POST @4l ?
(A) O Power off Self Text
dIgIo 2P 649mL65F% (Power off Self Text)
(B) O Power off Slow Text
1G9 2T 69 69'9% (Power off Slow Text)
(C) O Power on Self Test (Correct Alternative) (Choosen Option)
digla 2e 6dm, 659 (Power on Self Test) (Correct Alternative) (Choosen Option)
(D) © Power on Slow Text
digla 2 64 6599 (Power on Slow Text)

Question No. 6 1.00
Bookmark
The Input device that resembles an upside-down mouse is:
96 Qags SauRe (Input device), LI 9@ GRS £1IRQE (upside-down mouse) 9G4l 2169 |

(A) O Track ball (Correct Alternative)

gie @m (Track ball) (Correct Alternative)
(B) © Stylus (Choosen Option)

FAmme (Stylus) (Choosen Option)
(C) O Keyboard

@16Q16 (Keyboard)
(D) O Light pen

MR 6de (Light pen)

Question No. 7 1.00
Bookmark
How many bytes make 1 KiloByte?
1 @6ml QIR (1 KiloByte), 626% SRS (bytes) €€ 49lg ?
(A) O 1000
1000
(B) O 1034
1034
(C) O 1024 (Correct Alternative) (Choosen Option)
1024 (Correct Alternative) (Choosen Option)
(D)o 100
100

Question No. 8 1.00
Bookmark
Which generation do voice recognition applications belong to?
Q99 QBRNFRUS AFYSKLS (voice recognition applications), 654 91 S 6R6G6QLE (generation) 2858
a6e'?
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(A) O Fifth (Correct Alternative) (Choosen Option)
d%€ (Correct Alternative) (Choosen Option)
(B) © Fourth
ogd
(C) O Third
L1
(D) O Future
LQENE

Question No. 9 1.00

Bookmark

You can add sequential numbers to a row of data in Excel, by using
adidel _ Q4edIx Al Ngm (Excel) 69 4@ @191 69U (row of data) 6@ Al El"SILEI (sequential
numbers) 6QIGAIRES |
(A) © Auto Sum (Choosen Option)

26g1 9491 (Auto Sum) (Choosen Option)
(B) © Auto Format

2661 rElie (Auto Format)
(C) O Filter

TR (Filter)
(D) O Fill handle (Correct Alternative)

&m 2l€IM (Fill handle) (Correct Alternative)

Question No. 10 1.00

Bookmark
option in Microsoft Word will display the document on-screen, to get an understanding of how
the hard copy would look like when printed.

QIQGQIQ@ Qg (Microsoft Word) 62 ?AQI a4, @@usﬂa 2e-8a (document on-screen) QQQG‘
@0e, GQEIEJ@ g4 6291 969 TIF /0 Gad 694 SIT REIUES |
(A) © Lookup
m@ad (Lookup)
(B) © Redo
g (Redo)
(C) O Print preview (Correct Alternative) (Choosen Option)
g4 I (Print preview) (Correct Alternative) (Choosen Option)
(D) O Freeze pane
Fe 699 (Freeze pane)

Question No. 11 1.00
Bookmark
What is the shortcut key to cut any text?
67169 65G% (text) § K% (cut) @RS AR ARG T (shortcut key), aeg' |
(A) O Ctrl+ X (Correct Alternative) (Choosen Option)
Ctrl + X (Correct Alternative) (Choosen Option)
By Ctrl+C
Ctrl+ C
C)O Ctrl+T
Ctrl+T
(D) Ctrl+V
Ctrl + V

Question No. 12 1.00
Bookmark
displays thumbnail views of your slides.
, dIél@ YL 2dcam @Y (thumbnail views) gedic a6 |
(A) O Slide sorter view (Correct Alternative) (Choosen Option)
9 AR @ (Slide sorter view) (Correct Alternative) (Choosen Option)
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(B) O Slide show view

o 64l @Y (Slide show view)
(C) O Notes page view

6l 6dW Q4 (Notes page view)
(D) © Normal view

edim @4 (Normal view)

Question No. 13 1.00
Bookmark
Websites such as Facebook and Twitter are classified as sites.
6CPA9R ¥Q° GE'Q (Facebook and Twitter) 9% 699QIRG 9ES, ARG QUIER G‘Gﬁ@@ QAR |

(A) O E-commerce
E-aad (E-commerce)
(B) O News Media
U@ 66152 (News Media)
(C) O Social Media (Correct Alternative) (Choosen Option)
cdidalq 661&2 (Social Media) (Correct Alternative) (Choosen Option)
(D) © Education
Jgeada (Education)

Question No. 14 1.00

Bookmark
The sub menu in MS-Word is used to send documents to colleagues for them to work on and
they can track their change.

69262 QI @< ai El@%‘ﬁﬁi PQYELIQ LOIRRI 99° PQUECIEER 62R2IRI RIFlG SIR KRR aix, MS-¢lg
(MS-Word) 62 2<l 49 6£lg SUSLIR 6LIReN |
(A) O send as attachment (Choosen Option)
64é 2w 2IFIFesIE (send as attachment) (Choosen Option)
(B) O track changes
e 6584 (track changes)
(C) O share (Correct Alternative)
642liot (share) (Correct Alternative)
(D) O send
646l (send)

Question No. 15 1.00

Bookmark
is a component of software or application through which the user can feed input and receive a
response, which consists of form and button controls.

6208 AP6YR @Y AFERLR 9 I K6LERE, LTI FIRINER QULTIDRIN RRYS &E (feed input)

LRGSR 99° IR 6094, AR AIRES, QL erel 99° eoR @64IM (form and button controls) § 6@ 910 |
(A) O Screensaver

§0649Q9 (Screensaver)
(B) O Platform

queerel (Platform)
(C) O Language Translator

MR QLMD (Language Translator)
(D) O User Interface (Correct Alternative) (Choosen Option)

S99 RECTY (User Interface) (Correct Alternative) (Choosen Option)

Question No. 16 1.00
Bookmark
We can refresh the connection outside the web book in Excel using .
2i6¢1 9gm (Excel) 691 QUSLIR 9% 689 9@ (web book) FILIER KETFE (connection) § QELPE
(refresh) RIS |

(A) O data link (Choosen Option)
@IS m&@ (data link) (Choosen Option)
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(B) O data connections (Correct Alternative)

219 ¥65F%'d (data connections) (Correct Alternative)
(C) O reapply

QElIgM (reapply)
(D) O force update

6erld 219699 (force update)

Question No. 17 1.00

Bookmark
A unique number that is assigned to any device connected to the Internet:

99 90'Q Q€9 (unique number) LI REAEHT IEG A°YD 66Q161T GRRLG G4 (assigned) 62IR&, OI'g
@'él QRIKN ?
(A) O MAC address
MAC 2lcgd (MAC address)
(B) O IP address (Correct Alternative) (Choosen Option)
IP 2lI6Ld (IP address) (Correct Alternative) (Choosen Option)
(C) O Email address
w6¢Im 2legd (Email address)
(D) O Website address
64eding 2legd (Website address)

Question No. 18 1.00

Bookmark
Crimes committed using computers and internet are called:

AAITR 99° REREHT QUILIR AT FAULIDR| ARG '€l QRIKIN ?
(A) © Cyber Crime (Correct Alternative) (Choosen Option)
dinea gIRel (Cyber Crime) (Correct Alternative) (Choosen Option)
(B) © Crime against Property
D! o160, 6g1698 (Crime against Property)
(C) © Hate Crimes
69% FIn¢ld (Hate Crimes)
(D) O Crime against Persons
SIRE 96168, A¢IGE (Crime against Persons)

Question No. 19 1.00

Bookmark
The basic idea of solving a complex problem by breaking it down into smaller sub problems is termed as

IG §6¢1,.99 6dI96ME] (complex problem) ¢ 6816 6216 99 6dI96ME] (sub problems) 69 KIS A% AFIIG
AR 6287 aAIRGaG QeI |
(A) O Break down
69@ @19 (Break down)
(B) © Sub program
49 64I9l¢l (Sub program)
(C) © Decomposition (Correct Alternative)
Ea6f@de (Decomposition) (Correct Alternative)
(D) O Split Up (Choosen Option)
g¢ 219 (Split Up) (Choosen Option)

Question No. 20 1.00
Bookmark
Which of the following is an input device on a computer?
FUMYS CRIQ 6965 IF FLUTRER I8 AFYS FRUIRG (input device) 26T ?
(A) O Speakers
A9R (Speakers)
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(B) © Mouse (Correct Alternative) (Choosen Option)

Al (Mouse) (Correct Alternative) (Choosen Option)
(C) © Monitor

AFFR (Monitor)
(D) O Printer

d4s (Printer)

5) Current Affairs National and International

Question No. 1 1.00
Bookmark

In September 2022, New Delhi's iconic Rajpath was renamed as:
696919 2022 69, QAITRIQ YIS Quadel FIF6R YR8RIfie 6TIRRM |
(A) O Patel Path

69 A5l (Patel Path)
(B) O Netaji Path

6021@1 €l (Netaji Path)
(C) O Kartavya Path (Correct Alternative) (Choosen Option)

K69y Alel (Kartavya Path) (Correct Alternative) (Choosen Option)
(D) © Valour Path

6GMA ISl (Valour Path)

Question No. 2 1.00

Bookmark
Which of the following is India's first privately built rocket, that was launched in November 20227

FUAMEIS FrIQ 6968, NG J2IF 699NN NUNEA FT16 AERE, LTI FERFA 2022 60 ABEVAE
U mI?
(A) O Kalam-S
@mliel-S (Kalam-S)
(B) © Thumba-S
2J¥l-S (Thumba-S)
(C) O Vikram-S (Correct Alternative) (Choosen Option)
9g¢1-S (Vikram-S) (Correct Alternative) (Choosen Option)
(D) © Rohini-S
6QUEEN -S (Rohini-S)

Question No. 3 1.00
Bookmark
Which of the following is the first state in India to set up a separate department for Divyang (differently-
abled)?

Fgmge crIg 6906 QINER T2 QIRY, D9G Fouigr (QQR9) Al aa 9e goIe GeIg 6108 @Q8g?
(A) O West Bengal
AL QP
(B) O Andhra Pradesh (Choosen Option)
2IF d6%<l (Choosen Option)
(C) O Uttar Pradesh
LEo oLl
(D) © Maharashtra (Correct Alternative)
¢1€19g, (Correct Alternative)

Question No. 4 1.00
Bookmark
Which of the following tunnels is being built by Border Road Organisation in Arunachal Pradesh under
'Project Vartak'?

FUAMES gRF AU 6995, 2R deLslen diFll 4e@ 4°610% (Border Road Organisation) 9I9l ‘616609
QO N6 Tel 6TR?
(A) O Atal Tunnel (Choosen Option)

2o o6am (Atal Tunnel) (Choosen Option)
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(B) © Punarjani tunnel
JeEe1 968R (Punarjani tunnel)
(C) © Lumding tunnel
ROGEP S6aM (Lumding tunnel)
(D) O Nechiphu tunnel (Correct Alternative)
69"6_‘?1 2'6@m (Nechiphu tunnel) (Correct Alternative)

Question No. 5 1.00
Bookmark
Which among the following organisations has recently released a report titled "Paying the Price of War"?
aamge frIQ 699 9°9l, IR R6AIF gRIE KRR TR 18R "6URe @ IRg 2 I 1 "Paying the Price
of War" 26%' ?
(A) O Organisation for Economic Co-operation and Development (Correct Alternative) (Choosen
Option)
AGILINERAR PR ACRI6LIAR 6R1-AUAAE 2Id 6L6QMACEE (Organisation for Economic
Co-operation and Development) (Correct Alternative) (Choosen Option)
(B) © World Trade Organization
@I, 69% ASIRIRERAS (World Trade Organization)
(C) O World Economic Forum
@M RER6RITR 6TPIRE! (World Economic Forum)
(D) O World Bank
3¢ QUi (World Bank)

Question No. 6 1.00

Bookmark
Which among the following countries hosted the 18th edition of World Athletics Championships?

FUNGe RIQ 69R 64, T 2lIENTY FIFARTA (World Athletics Championships) 9l 18 G¢1 2°IREl
ARG @AM ?
(A) O Germany (Choosen Option)
@€lIf1 (Choosen Option)
(B) O China
e
(C) O Portugal
agelm
(D) O United States of America (Correct Alternative)
IDNY AISARS (Correct Alternative)

Question No. 7 1.00

Bookmark
Pallikaranai Marsh Reserve Forest, recently declared as Ramsar site, is located in which state?

FRe6a QLN gA1 (Ramsar site) AITEN 6QITS AIRGANR Il R@6l @EPM (Pallikaranai Marsh Reserve
Forest), 6a@ QURY6R ASTS?
(A) O Tamil Nadu (Correct Alternative)
CIAMGIY (Correct Alternative)
(B) O Odisha
€l
(C) © Maharashtra
LI,
(D) O Gujarat (Choosen Option)
Yy (Choosen Option)

Question No. 8 1.00
Bookmark
What is 'Param Ananta', which was seen in the news recently?
ART6R S99 2GS AR ARS' @El?
(A) O Supersonic Missile
ga96dIae Adinm (Supersonic Missile)
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(B) O Satellite (Choosen Option)

diegTming (Satellite) (Choosen Option)
(C) © Supercomputer (Correct Alternative)

JAARUS'R (Supercomputer) (Correct Alternative)
(D) O Submarine

ALEC1G (Submarine)

Question No. 9 1.00

Bookmark
The 'Ramgarh Vishdhari Tiger Reserve' is located in which State?

QUGS FHRIN FIRTRN AR 68Q AURYER ASFS?
(A) O Madhya Pradesh
€1d JeQ'sl
(B) O Guijarat
Qg
(C) © Rajasthan (Correct Alternative) (Choosen Option)
QARLIS (Correct Alternative) (Choosen Option)
(D) O Arunachal Pradesh

Q6T R dewsl
Question No. 10 1.00
Bookmark
The 2022 UN Ocean Conference was co-hosted by the Governments of which among the following
Countries?

2022 Qle9°9 FLIQINR ARG (2022 UN Qcean Conference), @9mgS F1IQ 69Q 6Q99I0R LRI
I TRC QU6 ACARES 6SIR2MI?
(A) © Srilanka and Maldives (Choosen Option)
& @ Flmg19 (Choosen Option)
(B) O India and Egypt
QUG B 2EY
(C) O Kenya and Portugal (Correct Alternative)
69&2l @ ARGIM (Correct Alternative)
(D) O Australia and New Zealand
26 mal B guamIe
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